Question Paper Preview
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Number of Questions: 50
Display Number Panel: Yes
Group All Questions: NoO

Question Number : 1 Question Id : 6780945604 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the traces of A and B are 20 and -& then the trace of (A+B}is

Options :

12
-~
- 28

28

[

Question Number : 2 Question Id : 6780945605 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¢ 1]
10

It 4= s an Invoiutory matrix then x=

Options :
1 0
y =i
. —~1
d, -

Question Number : 3 Question Id : 6780945606 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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I

-
L]

The determinant of |loge® lozes logs | is

o
|l o log e

Options :

3

-
—

Hoge

L

Slog e

Question Number : 4 Question Id : 6780945607 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1T 4

-2 1 3| then detiwdid =

D1 2
Options :
1 det A

1
_det 47

—dlatr 4

!—'J

([ det A )'

Question Number : 5 Question Id : 6780945608 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f A B are two matrices and AB=B. BA=A then 4~ + B~ =

Options :
1 A+E
 A-B
: AL

;U

Question Number : 6 Question Id : 6780945609 Display Question Number : Yes Single Line Question (Intion : Nn Ontion
Orientation : Vertical
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| Cthen - —-FE =

1 —

| ¥ —i-lfJ{_lT:' +3y N+l Z2ym+ 3

If

Options :
3.

1.

.

2

5

Question Number : 7 Question Id : 6780945610 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR k. 1 .
| = | theh «:b=
(y—aldxy—86) a—a x-=9D

If

Options :
_
=2

R |

12
3.

Aol
4

Question Number : § Question Id : 6780945611 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of ran&357 =

Options :
1

i

—.

I

J2

Question Number : 9 Question Id : 6780945612 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 il ) %
1T taner = and tan & = then ranle+ 1=

e REIFETY

Options :
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Question Number : 10 Question Id : 6780945613 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of Guin 209 —=8«gin™ T0% =

Options :
1. 2
i
NG
NE
3.
|
&
4

Question Number : 11 Question Id : 67809453614 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If Aei@4+dcosf =5 then the value of 4sm & -3¢0z 8=

Options :

U
-

3. ]
2

Question Number : 12 Question Id : 6780945615 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sine function with peried 3 is

Options :
)
SIE

1. 5
. A
SEET

;)

. ;
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Question Number : 13 Question Id : 6780945616 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin= = Scea- v S

Options :
a!

1.

. 3

v O

.

, 34

Question Number : 14 Question Id : 6780943617 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The eguation J3snx+cosy=4 has

Options :
1_ Qnly one solution
~ two solutions

. Infinite solutions
, no solution

Question Number : 15 Question Id : 6780945618 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: ) _ _ _ L.
The solution of Cos™ (31 )+Cos o =2 is

Options :
|
-
1.
1
v
1
-
3.
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Question Number : 16 Question Id : 6780945619 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The value of sin&+sunf +120%) —sh1120° - &)1 =

Options :
1. D
SIEE

'I

I

— 111 7

Question Number : 17 Question Id : 6780945620 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The principal solution of 3 osecA =451mA 13

Options :
1.
T ;
i

mN
: 4
a.

+i7
4.

Question Number : 18 Question Id : 6780945621 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=

: 1 . .
If |-- —1 =\:‘ + 1. then z lies in

Options :
1 The real axis
3 clicle

The Imaginary axis

Lo

a parabola
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Question Number : 19 Question Id : 6780943622 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(1477 (1= .
If \ — o +{5. then & an b are
. ] —7

SESN

"mm pm, =

Options :

K
2,-2

% {.-2
0.-1
1,

Question Number : 20 Question Id : 6780945623 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If the line +=2v+ris atangentic +~ — -~ =< then the value of ¢ is

Options :

y 2

L

L

3
=
5

Question Number : 21 Question Id : 6780945624 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vertex of the parabola v~ +8x+121+4=0is

Options :
[—. 1)

1.

04—

) —4.—1]
W)

4

Question Number : 22 Question Id : 6780943625 Display Question Number : Yes Single Line Question Option : No Option

Orilentation : Vertical
The number of tangents to the ellipse : : '1: =1 through (2.1} 1s

Options :

. O
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Question Number : 23 Question Id : 6780945626 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The fength of the latus rectum of the hvperboia »- — 2y =4 s

Options :
, 2
O
3. 4
. <

Question Number : 24 Question Id : 6780945627 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the ditameter of the circle ¥ "-_Tj —Gr—81 =0 Ii5

Options :
.10
5 10
5 9
, 20

Question Number : 25 Question Id : 6780945628 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the line 21 =%y +/ touches the parabola - =6+ then k=

Options :

SER

r_;_.l_l__

L
|

| S

4.
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Question Number : 26 Question Id : 6780945629 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[r113 =
I— e 3 —

Options :

]
-

gy £
g

Question Number : 27 Question Id : 6780945630 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If Ffixvi=il+=x1% is continucus ai v=10 then =

Options :
2
1 °
.
- &£
{Jj
30
1
4 £

Question Number : 28 Question Id : 6780945631 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

()
If v =agsecH v=htrand then — =
Ty
Options :
£
— e G
[
£
—oosec &
5 i)
¥
— 20 7
£
2.
%
cosec
Iy
4.
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Question Number : 29 Question Id : 6780945632 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ey

. i i
If = =" then — =
Ry

Options :
logx

-ﬁ

1+ 1loex)”

log

(1—log v}

o

—log x
.
- il+logayr
.
—1
)
) (1+lozx)-

Question Number : 30 Question Id : 6780945633 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f +=sin " ! , then = - =

Options :

1.
|
L+
B,
ﬁ 143
.
a5
[ + 47
g

Question Number : 31 Question Id : 6780945634 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T
The slope of the normal to the curve y=asecf. v=gtand at #=— I8
3

Options :
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1.

0
1L

L

Question Number : 32 Question Id : 6780945635 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate of change of area of a circle with respeact to radius when r=5¢m Is

Options :
27 sg.omisec

107 sg.cmisec

1T sg.emisec
£

2Uxr sg.emisec
4.

Question Number : 33 Question Id : 6780945636 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vihich of the following function has maxima or minima®?

Options :

I. n
l..
L

1.

low

L=
—
1

Gt a4

S31% 8
4

Question Number : 34 Question Id : 6780945637 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the Increase In the side of a square 1s 2% then the approximate
percentage Increase In the area of the square Is

Options :

| 2

-
1

e

4
b
-

4
&
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Question Number : 35 Question Id : 67809453638 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
& 7

For the function #i{x)=log’>" + 73 which of the folowing is true?

Options :
T =
ot £ =0
1.
?t.‘{_’- ) "TJ:' = {}

e

¢ ﬂ‘ - f o 2

Question Number : 36 Question Id : 6780945639 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| cosac” Beot 846 =

Options :
cot” 6
“1
1. =
—coseg” @
. 5
cosec” @
3 3
—cosec’ &
=3 ¢

Question Number : 37 Question Id : 6780945640 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R .-
* oy
: —
s A=
Options :
™
loe —
1 R
4
log —
A

L3
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x
log —
3. i
E
log —
1
1

Question Number : 38 Question Id : 6780945641 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

£
r I"||.'
If ¢t - 05 then |_‘f~,{1-:

o

Options :

| b—a

B, i —1

s 4D

, U

Question Number : 39 Question Id : 6780945642 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1

&

-1
YAt ATy =

[
Options :
e 1
S
1.
T 1
5 =
s | [
102
3.
T o1
- I '.:I
4 > B

Question Number : 40 Question Id : 6780945643 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
it a
15 < | .
1181 [/, —¢' =
N—si =1 7

Options :

1. ¢
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i1+ et

n
1—e)
3
(e —10
E *

Question Number : 41 Question Id : 6780945644 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

74
] 5
| sec” vdv =
)
Options :
!
1
28
S
RS-
=
3. 12
]
E
4. 7

Question Number : 42 Question Id : 6780945645 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area bounded by the curve r=Ilogx. x-axis and the straight line

y—¢ =18 sguare units
Options :
1. €
. fe—1)
.
.
11—
4 %

Question Number : 43 Question Id : 6780945646 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volume of the solid generated by rotating one arch of the curve
1= 5in3y about the x-axis 15----

Options :

"

.-T_
1
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Question Number : 44 Question Id : 6780945647 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

=3

s 1
—— =5 —
| i A
T

.-:. - [}
A
HTT

=
S
A
IR A N TR
|—7- TI'; +
L e L !

1 =cv—c7 |5 the general solution of tne differential equation

-

- b

Question Number : 45 Question Id : 6780945648 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :
T=31re
1.
1= a4
A=+
3.

The general solution of the differential equation

~

i
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Question Number : 46 Question Id : 6780945649 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding 1o the famity of curves 1+ = aot
where a and o are arbitrary constants. Is

Options :
(f (71
A
T <Ay
.
(- M
1 — = {}
- l.!;lj-"f; (4
- T i
d-v o (o
-ll. — T
I::':Iql. B - i
3.
AN
— — 17 =]
4 [".J'T.T

Question Number : 47 Question Id : 6780945650 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Integrating factor of the differential equation

iy Ddv v+ idr =008

Options :

X
5

1

L

e

Question Number : 48 Question Id : 6780945651 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The differential equation whose solution is 4v~ — B1~.where A.B are
arbitrary constants are of  ----

Options :

| 1% order and 1 degree
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2™ order and1® degree

2™ order and 2™ degree
, 1% order and 2™ degres

Question Number : 49 Question Id : 6780945652 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 T

The general solution of the differential eguation —-4—<=5x=01Is
AT T

Options :

A

V=g cost oy anrle”

L
; . b
o r=ilopcos vt oy SN )T
[ ozs osad T r

N=A0y COs 2oy s T e
3 -

F=iecos 2yt os s Ix)en
& .

Question Number : 50 Question Id : 6780945653 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (=271 =sin 2y is
.
Cors
n

511} o
.

'

—COn

| .0

L

— 511t

|

Plyysies

Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No
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Question Number : 51 Question Id : 6780943654 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse Is the same as that of
Options :
1 moment of force

lnear momertum

L J

force

.

[Fressidie

Question Number : 52 Question Id : 6780945655 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the force is given by F = at+bt® where t is the time. The dimensions of a and b

dle

Options :

1 MLT™ MLT

MLT™ MLT™

1

MLAT ™, ML“T

)

MLZT™. ML

Question Number : 53 Question Id : 6780945656 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vector parallel to 67 + 87 and having a magnifuae of 5 1s

Options :

| 47 + 3}
127 + 187

1

L.

16: +87

oy

S+ Af

Question Number : 54 Question Id : 6780945657 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f |4 x 5| = K(AB) then angle between 4 and B is

Options : "
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1 cos K

cos  (1/K)

L J

sinK

I

sin”*( 1/K)

Question Number : 55 Question Id : 6780945658 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cricket ball ts thrown at a speed of 28 mis In a direction 30" above the

narizontal. The maximum neight reached by the all Is

Options :

1 T0 m
. 20m

—

S A0m

.

) 40 m

Question Number : 56 Question Id : 6780945659 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies are projected at angles of 45" and 60 with the harizontal with
same velocity simultaneously. Ratio of thelr horizontal ranges Is

Options :

1 v a2

I_I-II-

2

| 1.2
g 2

L

Question Number : 57 Question Id : 6780945660 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy 1s caught 2 seconds later by another at some distance

avway on the same level. If the angle of projection is 30¥, the velocity of

&
@collegedunlas
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19.6 misec
1.

- 9.8 misec

4.9 misec

oy

5.7 misec

Question Number : 58 Question Id : 6780945661 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 misec. A man crosses the river In

the shortest time of 25 sec. If there iz no flow and he swims with the same

velocity, the time taken to cross the river s

Options :

oW

— e

13

'|

I

2 sec

L

25 sec

L

o —

2o 2 osen

Question Number : 59 Question Id : 6780945662 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg lies on an inclined plane of angle 80" to the horizontal. If

the coefficient of friction 1s 0.4, the frictional torce along the Inclined plane s

Options :

. 198 N

. 0.98 N
049 N
, 0.245 N

.

Question Number : 60 Question Id : 6780945663 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight Is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact Is

Options :

0.2

&
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0.4
0.8
0.1

Lt

J

Question Number : 61 Question Id : 6780945664 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding step in 10m. Durng thils process, the farce on the

cycle due to the road is 200N and is alrectly opposed to the motion. The work

done by the road on the c¢ycle is

Options :

1000 J
- 20004

1

L k!

-1000J

N

- -2000

Question Number : 62 Question Id : 6780945665 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of mass 4 Kg Is dropped from a certain helght. After 3s, its Kinetic

gnergy Is =10 mr‘si)

Options :

. 5
50

5 K

| A

J

UK

Question Number : 63 Question Id : 6780945666 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An elevator weighing 500 kg 1s to be lifted up at a constant velocity of 0.20 m/s.

What would be the minimum power of the motor to be used?

Options :

100 W
500 W

&
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. 980W
300 W

q

Question Number : 64 Question Id : 6780945667 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al =0, the displacement of a particie In SHM is half its amplituge. lts Initial

phase s (referring to mean position

Options :
it

6
1.

i_lq__;l‘r'—_-l:

|

e

h..n‘:l

Question Number : 65 Question Id : 6780945668 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendutum is 100 cm. To have a period half of this valle,

the length 1s 10 be reduced by

Options :

25 om

]

faem

L of

50 om

R

100 om

Question Number : 66 Question Id : 6780945669 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inside a big hall, the reverberation time Is

Options :

| directly proportional to volume

iInversely proportional o sound absorption

_‘
—

&
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poth airectly proportional to volume

and
Inversely proportional to sound absorption

-
.

) depends on temperature

Question Number : 67 Question Id : 6780945670 Display Qucestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of [lon is different from that of a mosauito becalise

Options :
. the sounds have different pitch

they are of gifferent size

L J

the two voices travel with different ve.acifies

N

the soungs have aifferent phases

Question Number : 68 Question Id : 6780943671 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A caris traveliing at— m/s and sounds horn of freqguency 980 Rz, The

w U

apparent frequency heard by a police chasing the car at lg mis (v IS the velocity

of sound) Is

Options :

1 Y80 Hz

900 Az

100 Hz
, 1000Hz

L A

.

Question Number : 69 Question Id : 67809453672 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhen ice cube melts and becomes water, the ice-water system undergoes a

change such that

Options :

entropy of the system decreases and internal energy decreases
1.

entropy of the system decreases and internai energy ncre

"
- L
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enfropy of the system increases and internal energy increases

-
.

antropy of the system increases and Internal energy decreases
4,

Question Number : 70 Question Id : 6780945673 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falis from a heignt of 3 mig=%.= f‘:“:fﬁz}. Assuming that the
whole energy 1s converted into heat, the amount of eat sroduced 15

Options :

1 2 cal

2.7 cal

_4{:3\

s

| 4.2 cal

Question Number : 71 Question Id : 6780945674 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During an adiabatic expansion of 2 mofes of a ¢gas, the change in internal

energy was found to be egual to 100 J. The work done during the process will

be equal to

Options :

1 FA=] L,

. 100
200 J

I

100 J

Question Number : 72 Question Id : 6780945675 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i

The pressure and density of a diatomic gas { y =§ '] change adiabatically from

i 1
(P.d)to (PLd'). If =~ =32, then — is
Options :

1 128

v 32
&
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2 A3

.

4, G4

Question Number : 73 Question Id : 6780945676 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Bovle's law holds good for an ideal gas during

Options :

. Isobaric changes

Isothermal changes

-
|

ISOChoric changes

L

[SOtopIe chahges

Question Number : 74 Question Id : 6780945677 Display Quecestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The threshold frequency of metal iIs v.. When a light of frequency 4 v, s

Incident on metal then the K E . Of emitted electrons s

Options :

2 u. N
1

3 ‘.1'|_.'-. h

L

Question Number : 75 Question Id : 6780945678 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

superconductors are materials

Options :

y dielectric

. paramaagnetic

ferromagneiic

.

diamagnetic

Chemustey a
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Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780945679 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Paul exclusion prnciple 1s coencerned th

Options :

. Energy of orbital.

opin of electron.

L

Energy of electron

I

Angular momentum of electron

Question Number : 77 Question Id : 6780945680 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to Bohr s mode| of hydrogen atom, the following 1s guantized

Options :

1 Lifnear momentum

Linear velocity

L

Anguiar momentum

I

Anguiar velocity

Question Number : 78 Question Id : 6780945681 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many 'd — orbitals have two perpendicuiar nodal planes

Options :

 Two

Thres

|

Four

L

Flye

Question Number : 79 Question Id : 6780945682 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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n sodium chloride crystal. each Na™ ion is surrounded by

Options :

T O 1ons

Faur O ons

4

Sk G 1ons

e

Eignt ClI jons

Question Number : 80 Question Id : 6780945683 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following moleclis contains a 1 — 2ond

Options :

L

HC

Question Number : 81 Question Id : 6780945684 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vifhich among the following is insoluble in water?

Options :
Alcohol

Ammonia

L

Banzensa

I

Acetone

Question Number : 82 Question Id : 6780945685 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The normality of 2.3 M H.50, salution is

Options :
1 U. 46N
.23 N

L

J

. 2.3 N
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, 4.8N

Question Number : 83 Question Id : 6780945686 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 grams of substance of moleciular weignt 40 1s dissolved 1in 250 g of 'vater. Then the
moiality of the solution 1s

Options :
0.4

1.

. 0.8

3 0.2

, 05

Question Number : 84 Question Id : 6780945687 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The pH vaiue of U.u5M BalOH» solution 1z

Options :

10
12

I A

. 13
11

Question Number : 85 Question Id : 6780945688 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhich of the following moleculs is not a Lewis Base?

Options :

e

BF-

L J

NH-

o

L

"e

Question Number : 86 Question Id : 6780945689 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electralysis of brine, 710 g of Cl. was iberated at anode. The weight of NaQH

formed
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Options :



800

400 g

L

80 g

o

, 4lg

Question Number : 87 Question Id : 6780945690 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

111 the Dannlel cell, «which electrocds acts as anodge’”

Options :
U

1.

. Ad
iy
Pt

4

Question Number : 88 Question Id : 6780945691 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The molar conductance of HZ s more than that of NaCl because

Options :

. Nall 1s maore polar than K

- NaCl s ionic while HCl 1s covalent

lonic mobility of H™ is more than that of Na©

-
.

H™ get hydrated.

Question Number : 89 Question Id : 6780945692 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units for electrochemical equivalent are

Options :
Jrams=

grams ampere

|

- Coulomi

e

Grams per coulomb

Question Number : 90 Question Id : 6780945693 Display Question Number : Yes Single Line Ohmection (Ontfion * No (Intion

Orientation : Vertical
]
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Zeclite softening process removes
Options :

Only permanent hardness of “~ater
1.

Only temporary hardness of water

—

Eoth temporary and permanent hardness of wwater

-.

L

| The dissolvad gases In permansnt hard ater

Question Number : 91 Question Id : 6780945694 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The permanent hardness of water 15 caused by the presence o
Options :
Eicarbonates of Ca and Mg

. Carbonates of Na and K

Chlorides and Sulphates 2f Ca and Mag.

L

Fhosphates of Na and K

Question Number : 92 Question Id : 6780943695 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zecondary treatment of water uses to consume wastes in water,

Options :

Fiitration

Sedimertation

L

Chemicals

e

Microorganisms

Question Number : 93 Question Id : 6780945696 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Difficult to monitor and very dangerous form of corrosion s

Options :
1 salvanic

Fitting

&
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ey ce

-
.

Siress
£}

Question Number : 94 Question Id : 6780943697 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWnen Pt and Co are electrically connected, which one gets corroded?

Options :

e
Pt

1.

L

Nore

; both

N

Question Number : 95 Question Id : 6780945698 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhat rubber was invented when Dr. Josepn C. Patrick trnad to make antifreeze?

Options :

1 Methyl rubber

Chloroprens

L

Bruna N

IJ

| Thioksl

Question Number : 96 Question Id : 6780945699 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first plastic ever synthesized was callec

Options :

| Bakelte

INyion

L

Dacron

L

" Cellulose

Question Number : 97 Question Id : 6780945700 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s a brand of polyester textile finer that is wrinkie resistant and strong

&
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Options :



ellulose

Dacron

L

Eakelte

J

Nvion

Question Number : 98 Question Id : 6780945701 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWater gas 1s a mixture of

Options :

1 H-. + CO
NE-]' (o5

L !

Hg -+ GDE

J

H-+ CHqy

Question Number : 99 Question Id : 6780945702 Display Question Number : Yes Single Linc Qucestion Option : No Option
Orientation : Vertical

Vilhich of the following 12 not a greennouses gasy

Options :

IGE}

COx

L

|

wWaler vapour

)

H4

Question Number : 100 Question Id : 6780945703 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burning of fossil fuels causes
Options :

Giobal warming
1

Czone depletion

L

- Acid rain

L

Eutrophication
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Number ol Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780945704 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

The type of file used for wood wwork 8

Options :

Single cut Fike

]

Rasp cut File

-
|

Caouble Cut File

I

| Dlamond Cut Flis

Question Number : 102 Question Id : 6780945705 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The cutter teeth ang work plece, In down mitling move in this direction

Options :

| SdiTe

opposite

Lk

perpendicular

L

4 None

Question Number : 103 Question Id : 6780945706 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A grinder wheel 18 specifled as C-54-M-6-Y "C stanads for

Options :

S1C abrasive

1
. grade
_ hongd
. manufacture s prefix

Question Number : 104 Question Id : 6780945707 Display Question Number : Yes Single Line

Orientation : Vertical
]
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n a turning aperation a mild steel rod of diameter 20mm is turned at a speed
of 300 RPM. Then the cutting spesd in™m /s Is

Options :

0.1

1
., uino

-— .

3.1 1T

L

, 0.001

Question Number : 105 Question Id : 6780945708 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWnat Is the N-code for spinctle start (Clock wisei?

Options :

M 04

]

M 03
M 05

L d

L

., M0&

Question Number : 106 Question 1d : 6780945709 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n sharpening a cutting tool. a peripheral forece of 200N 18 appiied to a grinding
wheel of 100mim diameter rotating at 600 RPM. The power required in VWatts

I'>

Options :

200
S 200 m

_|I
—l

d

J

100 m

Question Number : 107 Question Id : 6780945710 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The size of gear is usually specified by

Options :
Piteh Cirele Diameter

Pressure Angle

.
&
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. Clreular Pitch

Diametral Piteh
4,

Question Number : 108 Question Id : 6780945711 Display Question Number : Yes Single Line Qucestion Option : No Option
Orientation : Vertical

The pitch of the screw gauge I1s 0.01Tcm and the least count s
0.007mm. The total number of divisions on the ¢ircuiar scale s

Options :

1 2ero

10

|

<18

e

., 100

Question Number : 109 Question Id : 6780945712 Display Question Number : Yes Single Line Qucestion Option : No Option
Orientation : Vertical

For nolding wide work. The following type of cramp 15 Used

Options :

1 (3. cramp

sash cramp

=

-

Nand screw

nench nold fast

e

Question Number : 110 Question Id : 6780945713 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The arbor of the milling machine 1s used 1o hold the

Options :

WOrK plece
1

spindle

_I
-

. mandrel

.

. cutting tcol

Fa R ™ T £ v

&
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Question Number : 111 Question Id : 6780945714 Display Question Number : Yes Single Line
Orientation : Vertical



Knurling I1s the process of

Options :

~ finishing a hole which has already been drilled

bevellng the extreme end of a work plece

L3

emphossing a diamond shaped aitern on tha iob

L

taper turning by setting the comiound rest at an angle

Question Number : 112 Question Id : 6780945715 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In snaper. the [ift of the ool during idie stroke 13 enstred by

Options :

1 foo| head

rachet and pawl mechanism

L

ram adjustment

L

clapper box mechanism

Question Number : 113 Question Id : 6780945716 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Gripper Is the type of

Options :
pOwWer Source

e effector

L

measuring device

L

. locomotory organ

Question Number : 114 Question Id : 6780945717 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Acetylene gas Is produced from

Options :

| calcium chioride

. calelum carpige

&
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carbhon

calcium carbonate

Question Number : 115 Question Id : 6780945718 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

For welding stainless steel by MG process the gas used |s

Options :

Fure argon gas
1,

~Carbon dioxige

gl ]

Argon — oxygen mixture

L

Nitrogen

Question Number : 116 Question Id : 6780945719 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich of the foliowing weiding processas use noh consumable electrode

Options :

W1 welding

1.

TIG VWelding

L

ClG welding

Lo

sub merged arc welding

Question Number : 117 Question Id : 6780945720 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process of enlarging a machine hole to proper size with a smooth finish Is
known as

Options :
$waging

Sellalallale

|

reaming

sawing

&
@collegedunlas
India’s largest Student Review Platform

i



Question Number : 118 Question Id : 6780945721 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

the forging of steel specimen 1s done at a temperaturs of

Options :

400°C

1

B00°C

-
1

- 800°C

.

1000YC

Question Number : 119 Question Id : 6780945722 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

the grain restructure I1s refinad i

Options :

1 cold working process

ot working process

|

poth In cold working and het working

.

none of the above

Question Number : 120 Question Id : 6780945723 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process of decreasing the cross-section of a bar and increasing 1ts [ength
15 Known as

Options :

1 SpINAING

Upsetting

| .

draw=ing down

oy

reaming

Question Number : 121 Question Id : 6780945724 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fettling 15 an operation performed

Options :

pefore casting
1' ]
collegedunia:
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during casting

L

after casting

L

any time

Question Number : 122 Question Id : 6780945725 Display Question Number : Yes Single Line Question Option : No ption
Orientation : Vertical

haplets are made of

Options :

1 metal

L Wwood

core sand

L

. hone

Question Number : 123 Question Id : 6780945726 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Abiitty of sand 1o withstand high temperatures without fusicn or ¢cracking I1s
called

Options :

. hot strengtn

dry strength

L.

nermeability

L

refractoriness

Question Number : 124 Question Id : 6780945727 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

>lag inclusion In casting is &

Options :
surface defect

Crack

L

noteh

I

nternal defect

&
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Question Number : 125 Question Id : 6780945728 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In pattern making the shrinkage ailowance 1s provided mainly to compensate
Options :

Iquid compensate
1

- $0lid contraction

soldification contraction

combination of liquid contraction and saligtfication
contraction.

Question Number : 126 Question Id : 6780945729 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The algebraic difference between the maximum hmit and nominal size s
known as

Options :

1 deviation

upper deviation

| 2

_ lower deviation

I

, allowance

Question Number : 127 Question Id : 6780945730 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s A 0.0
Busn bearing has internal diameter 33-cct and the shaft diameter 330 ot

the minimum clearance will be

Options :

0.063
1

1

- 0.020
- 0.045

I

0.025

Question Number : 128 Question Id : 6780945731 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Charpy impact test the specimen 18 kKept like a‘an

Options :
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1 cantllever

fixed beam

overhanging beam

simply sUpported beaimn
4.

Question Number : 129 Question Id : 6780945732 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

nvar 1s named as

Options :
1 0w — melting

. low — expansion alloy

"

high — melting point

Lo

high — expansion alloy

Question Number : 130 Question Id : 6780945733 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

stellite Is

Options :

| cobait based alloy

molybdemium bhased alloy

L

vahadium based alloy

L

titanium based alloy

Question Number : 131 Question Id : 6780945734 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Endurance himit 1s
Options :

. measurement for fatigue strength

criteria for ¢creep phenomenon

above wnich material becomes plastic

L

used in impact test conditions

4.
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Question Number : 132 Question Id : 6780945735 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

reep curve (s plotted between

Options :

1 strain vs stress

stress vs elongation

-

stress ve time

L

strain vs time

Question Number : 133 Question Id : 6780945736 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vilhien cobalt 1s added to steel
Options :

wear resistance will be improved
1.

hat harcaness il be decreased

L

corfrosion resistance will be Increased

L

magnetic properties «will he improved

Question Number : 134 Question Id : 6780945737 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A simply supported beam of [ength "2f s carrying a point icad "2 at the center of

the heam. The maximum defiection at mid span is (\Where E is the Young's modulus
of the material and | Is the moment of inertia )

Options :
Tu '
1 _-EEI.
r l-IIE
<L
:
F ;I'd'
AT,

Lo

4 4
&
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Question Number : 135 Question Id : 6780945738 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A closely —cotled spring 1s supjecied to a tensiie load of t KN so that the
deflection due to the load in the spring is Tmm . Then the stralin energy stored

In the spring

Options :

. 0.5 Nm

0.5 Nmm

L o

.1Nm

L

| 100MMmm

Question Number : 136 Question Id : 6780945739 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A thin cylindrical shell of diameter U and thickiness tis subjected {0 an internal
pressure p. The longitudinal stress In the shell is

Options :

k)

[
L

1

=

—

- 4
Lo

L

Lo

Question Number : 137 Question Id : 6780945740 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hook s law holds good upts

Options :

Y vield point

.y elastic it

~ plastic limit

] breaking point

Question Number : 138 Question Id : 6780945741 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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The ratio of inear stress to the [iInear strain I1s called

Options :
modulus of elasticity

modulus of rigicity

L

buUlk modulus

Folsson s ratio

Question Number : 139 Question Id : 6780945742 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The materials naving same ¢lastic properies in all directions are calleg
Options :

1 Icleal materials

uniforim materiats

'I

[ ]

Isotropic materiais

L

aslastic materials

Question Number : 140 Question Id : 6780945743 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SO0KVY  power Is transmitted by the pelt system when 1t s running at s0m/sec.
Then difference in tension will be

Options :

- 1000N
. 1000KN

500N
- 500KN

N

Question Number : 141 Question Id : 6780945744 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the percentage of slip in the belt arve 18 "5 |, the percentage of reduction In
vetocity ratio |s

Options :

4%

1.

. 45

"
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, 058
. 8

Question Number : 142 Question Id : 6780945745 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

V-helts are suitabie for transmission of power hetween two shafis having

Options :
;long centre distance

shorter distance

L

any tength

I

angutar alignment

Question Number : 143 Question Id : 6780945746 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the number of gear teeth on a pinion I1s 30 and Its velocity ratio 1s 2,
then the number of gear ieeth on gear wheel s

Options :

i<
1
L.

"

120
73

IJ

Question Number : 144 Question Id : 6780945747 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n a flange coupling the bolts are subjected o

Options :

bending

]
- crushing

shearing

L

bending and shearing

Question Number : 145 Question Id : 6780945748 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Cam used to minimize jerks Is
Options :



1

L

cycioldal

radial

cylinarical

hyperbolic

Question Number : 146 Question Id : 6780945749 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Throttle valve 1s operated by the gaovernor through a mechanism of

Options :

1

4

-

=3

toggie — mechanism

wth- worth mechanism

~ bell - crank mecnanism

.

etliptical trammel

Question Number : 147 Question Id : 6780945750 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wood ruff key Is generally

Options :

1.

-

squUare

rectangular

SEMI-Clreutar

trapezoidal

Question Number : 148 Question Id : 6780945751 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhen two spur gears are to be mesn their

Options :

1.

"

)

module must be same

direction of rotation must be samse

number of teeth must be same

ciearance must he same
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Question Number : 149 Question Id : 6780945752 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Lozenge |oInt 15 called a joint of
Options :

1 maximum strength

. minimum strength

- .

uniform strength

L

absolute strength

Question Number : 150 Question Id : 6780945753 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bolt can be made of uniform strength by

Options :
cdrilling an axial note through the hesd L o threadad sortion

increasing the length of the shank of the bolt

Increasing the diameter of the shank ¢f the holt

none of the above

Question Number : 151 Question Id : 6780945754 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific heat of a gas at constant pressure
Options :

1 Is equatl to the specific heat at constant volume

s two times the specific heat at constant volume

L

15 always greater than the specific heat at constant volume

)

s always zero

Question Number : 152 Question 1d : 6780945755 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Joule’'s |aw states that

Options :

chande of Internal energy Is proportional to the change of temperature

&
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4

I

change of volume Is proportionat to the change of temperature

change of pressure s praportional 1o tihe change of temperature

none of the above

Question Number : 153 Question Id : 6780945756 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

constant. |s called

Options :

L

Lo

isentropic process
polytroplc process
sothermal process

nyperpolic process

A process, Inwhich no heat is suppiled of reiected and entropy 1s not

Question Number : 154 Question Id : 6780945757 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stirling cycle consists of

Options :

1.

L3

b0 Isotnermal, and two adiabatic processes

two isothermal, one constant volume and one constant prassure

Processes

che [sothermal. one adiabatic and two constant volume

LIOCesSSes

two 1sothermal anad two constant volume processes

Question Number : 155 Question Id : 6780945758 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bomb calorimeter 15 usad to determines

Options :
1 the viscosity of the liguid

-

calerific value of a liquid or solid fuels

&
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calorific value of gaseous fue

&
.

, the expiosive Intensity of a boimb

Question Number : 156 Question Id : 6780945759 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n a four stroke cycle 5.| engine the ¢am shaft runs

Options :

1 at the same speed as crank shatt

at nalf the speed of crank shaft

—
1

at tvice the speed of crank snaft

L

at ¢ times the speed of ¢crank shaft

Question Number : 157 Question Id : 6780945760 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

High alr fuel ratio In gas turbines
Options :

reduces the exhaust temperature
1

improves thermal efficiency

L

reheating power output

Lo

restricts damage to the turbine

Question Number : 158 Question Id : 6780945761 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Turbo propeller has the following additional feature over Urpo |ef

Options :

| nter cooler

diffuser

—
|

starter

L

propelier

Question Number : 159 Question Id : 6780945762 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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the function of diffuser In jet engine is

Options :

1 to Increase velocity of air

make the flow In steam line

-

convert pressure energy into Kinetic enerdy

L

convert Kinetic enargy Into presstire energy

Question Number : 160 Question Id : 6780945763 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the exhaust from the gas turoine s utihized I healing the compressed alr,
the efficiency of the gas turbins cvcle will

Options :

fecregses
.

Ncreases

—
|

| rematn constant

e

first Increases and then decreases

Question Number : 161 Question Id : 6780945764 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 a vapour compression refrigeration system, the condenser is placed
between

Options :

. Expansion vaive and evaporator

oW pressure compressor and high pressure compressor

_I
= |

evaporator and compressor

.
.

, Compressor and expansion valve

Question Number : 162 Question Id : 6780945765 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volumetric efficiency of an alr compressor 1s the ratio of

Options :

1 actual free air deliverad 1o the displacement volume
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displacement volume to clearance volume

L

volume before compression 1o volume after comprassion

]

none of the above

Question Number : 163 Question Id : 6780945766 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Reaction turbines are also ecgl|ad

Options :

1 free et turbines

mixed flow turbines

L

gaxial flow turbines

e

pressure turbines

Question Number : 164 Question Id : 6780945767 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n Kaplan turbine direction of flow of water through the runner is

Options :

1 parallel to axis of rotation

normal o axis of rotation

| .

radial

neciined at 30% to the axis of rotation

Question Number : 165 Question Id : 6780945768 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Impuise turbine 1s used for

Options :

1 0w head of water

high head of water

L

medium head of water

oy

high discharge

Question Number : 166 Question Id : 6780945769 Display Question Number : Yes Single Line

Orientation : Vertical
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The suction and delivery heads of centrifugal pumps are 10m and 4m
respectively. Its8 manometric head would ke

Options :

1. B m

. 14m

—

40m

I

4m

Question Number : 167 Question Id : 6780945770 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cavitation occurs in reciprocating pump during

Options :

1 siction stroke

_ celivery stroke

at suction anda delivery strokes

I

due to puisating flow

Question Number : 168 Question Id : 6780945771 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alr vesseals gre fitted for

Options :

1 et pumps

centrifugal pumps

deep well pumps

L

reciprocating pumps

Question Number : 169 Question Id : 6780945772 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solenold 1s a device wnich converts
Options :

| mechanical energy Into electricat energy

electrical energy Into force
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electrical energy into heat

-
.

heat energy nto mechanical energy

Question Number : 170 Question Id : 6780945773 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Jigger 1s a main component part of

Options :

| crane

accumulator

intensifiar

L

None

Question Number : 171 Question Id : 6780945774 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

perfect synchronization of the pistons of two pneumatic cylinders is possibie in
Options :

preumatic circult
1,

hydro pneumatic circult with two dupiex units

L

hydro pneumatic clrcult with one duplex unit

I

hydro pneumatic circult »with four duplex units

Question Number : 172 Question Id : 6780945775 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The efficlency of the boiter Is gefined as

Options :

1 ratio of heat supplied by fuel to the heat absorbed by feed water

ratio of heat absorbed by feed water to the heat supplied by fuel Ih a
Jiven time

L

iy

ratio of the weight of water evaporated to the total water supplied in the
boller for a given time

L

Ratio of weight of total water supplied and weight of total water
evaporated

4,
&
@collegedunlas
India’s largest Student Review Platform

i



Question Number : 173 Question Id : 6780945776 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Uraught produced by a chimney 1s known as

Options :

) nduced draught

_ forcead draught
~ Natural draught

Advanced draught
4

Question Number : 174 Question Id : 6780945777 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The critical point 13 the point at ~hich

Options :

melting and holling tamoeratures are equal
]

the change of volume accompanying evaporation s maximum

L

the ¢chahge of volume accompanying evaporation is zero

I

the change of volume accompanying evaporation is exponential

Question Number : 175 Question Id : 6780945778 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f"P4" 1s the initial pressure of the steam and "F 18 critical pressure, then
critical pressure ratic Is

Options :
| P1 ; PE
F- Py

L J

(P1-P2Y (P1 +P2)

e

(P +E2) (P = P2

Question Number : 176 Question Id : 6780945779 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The difference of supersaturated temperature and saturated temperature at
that pressure 18 Known as

Options :

degree of superheat
1

degree of supersaturation

| .

degree of undercooling

I

saturation pressure

Question Number : 177 Question Id : 6780945780 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of workdane on the hiades to the erargy supplied to the biages Is
called

Options :

diagram efficiency
1

nozzle efficiency

L

stage efficiency

I

mechanical efficiency

Question Number : 178 Question Id : 6780945781 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

N case of reaction steam turbines
Options :

y there Is enthalpy drop onty In fixed plades

there 13 enthaipy drop only In moving plades

L

there Is no enthalpy drap either In fixed and moving blades

J

there 1s enthalpy drop both In fixed and moving blades

Question Number : 179 Question Id : 6780945782 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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1 pressure compounding, steam s passed through

Options :



1 fixed nozzle-moving blades-fixed blades-moving plades

moving plades-fixed nozz'es- fixed hiades-moving blages

|

fixed nozzie-moving biades-fixed nozzies-moving hiades

L

fixed blades-moving blades-fixed nozzles- moving blades

Question Number : 180 Question Id : 6780945783 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Heat pump cycle operated ket./een {he condenser tamperature of 2YC anc
evaporator temperature of -23-0 than COF wolild he

Options :

.'I .-'
i,

12

L d

10

IJ

212

Question Number : 181 Question Id : 6780945784 Display QQuestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Uichlore = diflouro methane is

Options :

Freon-11

Freon-12

| Freon-22

L

L

Freon-21

Question Number : 182 Question Id : 6780945785 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alr 18 dehumidified by

Options :

. cooling

njecting water

L

injecting steam

I
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; neating

Question Number : 183 Question Id : 6780945786 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

If wet bulb depression 1s zero. then the relative humidity 1s equal to

Options :

- U

205

L

100%

J

- 40%

Question Number : 184 Question Id : 6780945787 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

" ochart 1s used for
Options :

- process control

nroportion of non-confirming units

L

number of defects per unit

)

percentage error

Question Number : 185 Question Id : 6780945788 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Graphical representation of operations, inspection, delays and storages Is
called

Options :

string diagram
1

aperation chart

L

flows diagram

L

flow process chart

Question Number : 186 Question Id : 6780945789 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Therbligs refers to

Options :
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nrocess chart symbols

fundamental hand motion symbois

L

templates

FERT chart

Question Number : 187 Question Id : 6780945790 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A process of discovering ard indeniifving the pertinant infermation relative to
the nature of a specific [ob 15 called

Options :

ok 1dentification
1.

job description

1 A

|ob analysis

L

job classification

Question Number : 188 Question Id : 6780945791 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Super hazaar falls under

Options :

| co-operative sociefies

solo proprietorship

jaint stock companies

.

pUblIC sector companies

Question Number : 189 Question Id : 6780945792 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

the critical activity has

Options :

1 maximum float

minimum float

L

zero float

I
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, average float

Question Number : 190 Question Id : 6780945793 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The following function s not a materal management function

Options :

inventory control
1

~ purchasing

-

nspeciion

;.
material handling
4.

Question Number : 191 Question Id : 6780945794 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(zantt chart represents

Options :

Temporary storage of in-process inventory
1

Comparison hetween actual progress “+th planned progress

Balance of work to bhe carried out

e

VWeekly break-down of production regquirement

Question Number : 192 Question Id : 6780945795 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Time required to obtain the delivery of fresh supplies. or the time Iinterval
between placing the orders and receiving of materials is calied

Options :
1 detay time

arder time

L

lead time

L

none of the above

Question Number : 193 Question Id : 6780945796 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Options :
1 fixed and variable cost lines ntersect

variabie and total cost [ines mtersect

L

total cost and fixed Ines intersect

o

total cost and sales revenue 'Ines Ntersect

Question Number : 194 Question Id : 6780945797 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The fuel Is injected Into the cylinger :n diesel engine winen the piston Is

Options :

exactly at BDC before comprassion
1.

exactly at TDC after compression

|

approaching TDO during exhaust stroke

]

approaching TOC during compression stroke

Question Number : 195 Question Id : 6780945798 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Provizion 1s made to allow a leaf spring to vary its length 13 a

Options :

1 5w/ NQINg shackle

rubber u-belt mounting

4

- .

sliding center Do

L

spline in the spring eye

Question Number : 196 Question Id : 6780945799 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich gear does not produce axial thrust

Options :

~ Spur gear

. nelical gear

—

spiral gear

b
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; hevel gear

Question Number : 197 Question 1d : 6780945800 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Caster 1s defined as the incination of

Options :

| front whee! to the vertical

 the King pin axis In the fore andt aft plane

-l .

the King pin axis in the transyerse verticat pianea

) None of the above

Question Number : 198 Question Id : 6780945801 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A propeller shaft is fuibular instead of solict cecause

Options :
a solid shaft 1s weaker

Its sag s smaller

L

118 more rigic

L

1 resists wind-up

Question Number : 199 Question Id : 6780945802 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As applied 1o a braking system, the term brake fade means the
Options :

decrease in friction due o wear

fade off in efficiency due to heat

L o

Increase N effort as the shoe clearance INcreases

L

discoloration of the lining when it 1s oll spaked

Question Number : 200 Question Id : 6780945803 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n a clutch. pressure plate Is placed betweaen

Options :
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fly wheel and cluten plate

1

L of

fly wheel and cover plate

cluteh piate and cover plate

none of the above

L
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